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Note : Paper is divided into three,sect'ions. AH-sections are
compulsory.

'Section -A
Objective Type Questions
Q.1. Choosethe corrept answer: 1¥2x10=15

i) If8 tan x = 15, then sin x-cos x is equal to:
8 Y 17

1 .
C) ']*7 - d =

i) The ratio of an length of a rod and its shadow is 1: \/—
The angle of elevation of the sum is: '

a) 30°- b) 45°
c) 60° d) 90°
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- x={ x=3 .
: a b
iy If (—) ={-‘) , then x is equal to:
. b a .
B
b) 5
%

2 5
- W) sz='3 4| then |AJis:

a) 6 b} &
¢y 7 d) -8
V) Which-of the following is true? ~ -
a) Mean = 3 median ~ 2 mode
b} Median =23 mode ~2 mean
¢) Mode = mean + median
d) Mode = 3 median -2 mean,
v)) Themedian for the following datais: 180, 191, 175, 111,

154,141, 176:
a) 174 b) 175
c) 178 d) 177
viy IfA:B = 8:15, B:C = 5:8 and C:D = 4.5, then AD is
equal to:
a)y 2.7 b) 4:15.
c) 815 d) 15:4°
viliy What is 25% of 25% equal to:
a) 625 b) 0625
c) 0.0625

d}y 0.00625
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ix) ffx)= 4x*-3x%+2 then Ey =7

2 1BX2-0x+2 ) 48x2-18x

c) 24x3%4 . d) 12x2-9x
x) Value of -Iﬁ;c_fcfx is:
LAV b3
2 1
S 93
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Section-8
(Short Answer Type Questions)

5x5=25
Q2. IfsinA= ¥ find.cos Aand tan A
or
b -th t cos30°+sin 60° \E
rove tha - = .-
: ~ l+cos60°+sin30° 2
5 . _
- Q3 N (\/37) x 9% =3% x 3+/3 then find the valug of .
Or
Write the definition of square matrix with example.
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: C}E » Evaluate fim =

onlineBU com (4) '

Q4 Draw a histogram farthe fotfowlng distribution:

Class: . ° _o-mlw-ze‘* 20:30{ 3040 | 40-50 { 5060 [60-70
: Fre:quancyr 2 ). 4 110 4 13 ] 8| 2
e er :

Fmd the mean of the fallov.ftng dlstributlon

Marks Obtained: -| 010 | 10:207] 20-30 3040 ] 4060
[ No.ofStudents: | 7| 9| 121 8 | 4

Q.5. Findthe inverse of ih'e'ma't'ri;. A= 1 1

By selling a Book for Rs. 115.20,--_3' Man loses 10%. Atwhat
price should be sell it to gain 5%7?
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X—} x p—
Or
cotx

Integrate J log (sin x)
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Section -C
{Long Answer Type Questions)
§x9=45

Q.7.% A circus artist is climbing a 20m long rope, which is tightly
. stretched and tied from the top of a vertical pole to the ground.

Find the height of the pole if the angle made by the rope with
the ground level is 30°,

Or

.
If secB=x+ 70 prove that

1 onlineBU.com
secB+tanB=2x or —. '
2x
2 3 4 1 3 0
Q8" If 4= 1 2 3{andB8=[-1 2 1| thenfind AB
-1 1 2 0 0 2
Or
a—-b—c 2a 2a
. 3
Provethat| 20 b-c-a 26 :(a+b+c)r
2c 2 c—a—b
YA-647 MT-191 RPT.O.

.. 9 onlineBU.com
1.9.¢ Calculate median and mode for the following data:
Time | T
(Indays): { 05 { 510 | 1015 | 1820 | 2025
Noof -
Patients: | 46 | 73 | 26 {15.| ¢
or L
Find the standard deviation of the following data:
Class: | 06 | 612 | 12418 | 1824 | 24-30
Frequency : 4 7- 9 8 4

Q. 10 By selling 33 metres of cioth, one gains the se'.hng price of
11 metres. Find the gain percent. '

Or

A mixture contains alcohol and water in the ratio 4:3.
if 5 litres of water is added to the mixture, the ratio becomes
4.5. Find the quantity of alcohol in the in_en mixture.
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Cl 11 Find Ex_ when x = 2 cos 3t, y= 2 sin St

Or
k.
Evaluate sz e’ dx .
- 0:4-&:0 0:4-0:0 o:o 024-0:0
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